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Réponses

1. 7,21

2. 4,12

3. 3,61

4. 6,4

5. 8,06

6. 8,06

7. 3,61

8. 7,28

9. 5,66

10. 5,39

11. 11,18

12. 10,44

Trouvez la valeur de C, avec un arrondi au centième.

1)

C
4

6

16 + 36 = 52

√52 = 7,21

2)
C

1 4

1 + 16 = 17

√17 = 4,12

3)

C3

2

9 + 4 = 13

√13 = 3,61

4)

C

4

5

16 + 25 = 41

√41 = 6,4

5)
C

1
8

1 + 64 = 65

√65 = 8,06

6)

C
8

1

64 + 1 = 65

√65 = 8,06

7)

C

2 3

4 + 9 = 13

√13 = 3,61

8)
C

2
7

4 + 49 = 53

√53 = 7,28

9)

C

4

4

16 + 16 = 32

√32 = 5,66

10)

C5

2

25 + 4 = 29

√29 = 5,39

11)

C
10

5

100 + 25 = 125

√125 = 11,18

12)
C

3 10

9 + 100 = 109

√109 = 10,44
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